Shivley U, Geste

MName
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1. A projectile is fired from a height of 80 m al an angle ) "“?"J .il'-a-;?
of 30° downward from the horizgontal. It hits the ground ‘\“
1.5 s later. \
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b) What horizontal distance did the prajectile travel dur- ‘
ing its Might?
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2. A 3.0 kg block is pulled over & horizontal surface by a
15 N force directed at 307 above the horizontal. 15N

a) If the surlace s smooth (e frictionless) what is the

acceleration of the block? .
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b) If instead il is a rough surface and the acceleration is found to be a = 268, what is the coeflicient of
kinetic friction for the block and surface?
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